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Section : General English

Q.1 Select the most appropriate synonym of the given word. Lavish
Ans X 1 Scarce

J 2. Bountiful
X 3. Austere
x 4. Simple

Question ID : 239087119
Status : Answered
Chosen Option : 2

Select the most appropriate antonym of the given word. Hidden

Ans 1. Covered
2. Concealed
3. Veiled

4. Apparent

Question ID : 239087121
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank. I
congratulated him his promotion.

Ans x 1. because of

x 2. due to
“ 3.0n
X 4.t0

Question ID : 239087111
Status : Answered

Chosen Option : 3

Q.4 Choose the most appropriate word that can substitute the given group of words. Group
of singers

Ans  off 1 Choir
X 2. Council
2 3.y

X 4. Orchestra

Question ID : 239087125
Status : Answered
Chosen Option : 1
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Q.5 Choose the correctly spelt word.
Ans x 1. Allert

x 2. Excead
J 3. Equipped
X 4. Emfasize

Question ID : 239087128
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.
Accountable

Ans x 1. Blameless

i 2. Answerable

x 3. Slack

x 4. Unreliable

Question ID : 239087120
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1. in the
body weight. It isincreasing 2. a fast pace in our country. Ithas 3. adverse health
effects and can even 4. to pre-mature death. The basic cause of obesity is 5.

imbalance between energy intake and energy expenditure.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 1.

Ans 1. increase
2. raise
3. decline

4. decrease

Question ID : 239087114

Chosen Option : 1

Y. __________________________________________________________________________________________________________________|
Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1. in the
body weight. It isincreasing 2. a fast pace in our country. Ithas 3. adverse health
effects and can even 4. to pre-mature death. The basic cause of obesity is 5.

imbalance between energy intake and energy expenditure.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 2.
Ans  of 1 at

x 2. by
& 3. with
x 4.0n

Question ID : 239087115
Status : Answered
Chosen Option : 3




- ______________________________________________________________________________________________________________________________|
Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1. in the
body weight. It isincreasing 2. a fast pace in our country. Ithas 3. adverse health
effects and can even 4. to pre-mature death. The basic cause of obesity is 5.

imbalance between energy intake and energy expenditure.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 3.

Ans J 1. many

25 2 little
x 3. few
x 4. much

Question ID : 239087116
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1. in the
body weight. It isincreasing 2. a fast pace in our country. Ithas 3. adverse health
effects and caneven 4. to pre-mature death. The basic cause of obesity is 5.

imbalance between energy intake and energy expenditure.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 4.

Ans 1. point
2. start
3. lead
4. take
Question ID : 239087117

Status-—Answered
Chosen Option : 3

-
Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1. in the
body weight. It isincreasing 2. a fast pace in our country. Ithas 3. adverse health
effects and caneven 4. to pre-mature death. The basic cause of obesity is 5.

imbalance between energy intake and energy expenditure.

SubQuestion No : 11
Q.11 Select the most appropriate option for blank No. 5.

Ans J 1.the
x 2.no
x 3.0ne
X 4a

Question ID : 239087118
Status : Answered
Chosen Option : 4

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
The people in my office are smarter than other offices. /No error




Ans X' 1. The people in
X 2. No error
f 3. smarter than other offices

X 4. my office are

there is no need to substitute it, select No Improvement.
If he would tried he would have succeeded.

Ans X1 was tried

X 2. No Improvement
X 3. is tried
o 2. had tried

Q.14 Choose the correctly spelt word.
Ans 1. Dielema

2. Dilemma
3. Dilema

4. Dillema

Ans 1. The doctor with his

X 2. No error

X 3. to arrive here by noon
« 4. interns are due

Q.16 Select the most appropriate option to fill in the blank.
The little puppy was by a speeding car.

Ans X 1 runaway
( 2. runover
X 3. run at
X 4. run into

criticism and mockery

Question ID : 239087105
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option to substitute the underlined segment in the given sentence. If

Question ID : 239087108
Status : Answered
Chosen Option : 4

Question1D--239087127
Status : Answered
Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
The doctor with his interns are due to arrive here by noon. /No error

Question ID : 239087107

Status : Answered
Chosen Option : 4

Question ID : 239087129
Status : Answered
Chosen Option : 1

Q.17 Choose the most appropriate word that can substitute the given group of words. Full of




Ans X' 1 Cliché

X 2. Eulogy
x 3. Praise
( 4. Satire

Question ID : 239087126
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select No Improvement.

Applications are invite to eligible candidates for the post of Vice Principal in a reputed
school.

Ans X' 1. No Improvement

( 2. invited from

< 3. invited by
X 4. inviting from

Question1D239087109
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate meaning of the given idiom.
Come to light

Ans 1. To be obscure
2. To be well lit-up
3. Topry a secret

4. To be known publicly

Question1D--239087123
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate option to fill in the blank.
The wonderful performance of the maestro left the audience

Ans 1. puzzled
X 2. hungry
X 3. sleepy

f 4. entranced

Question ID : 239087130
Status : Answered
Chosen Option : 4

Q.21 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select No Improvement.

The terrorist was arrested for the first time in December, 2001.
Ans X 1. for first timing

X 2. in the firsttime
X 3. for one times

« 4. No Improvement

Question ID : 239087110
Status : Answered
Chosen Option : 4

—



Q.22 Select the most appropriate antonym of the given word.
Goodwill

Ans  off 1 Hostility
25 2. Felicity
X 3. Insanity
x 4. Facility

Q.23 Select the most appropriate option to fill in the blank.
Teachers would like a long holiday.

Ans X 1 have
X 2. having been
X 3. having for

( 4. to have

Q.24 Select the most appropriate meaning of the given idiom.
Above one's head

Ans 1. To be very tall
2. Intimate and personal
3. Overhead expenses

4. Beyond one's understanding

Ans X' 1. Noerror
“ 2. is love by most people
X 3. Mukherjee is a

x 4. famous politician who

Question ID : 239087122
Status : Answered
Chosen Option : 1

Question ID : 239087112
Status : Answered
Chosen Option : 4

Question ID : 239087124
~

Status : Answered
Chosen Option : 4

Q.25 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Mukherjee is a famous politician who is love by most people. /No error

Question ID ; 239087106

Status : Answered
Chosen Option : 2

Section : General Intelligence & Reasoning
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Question ID : 239087379

Status--Answered
Chosen Option : 4
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Status : Answered
Chosen Option : 1
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Question ID : 239087561
Status : Answered
Chosen Option : 1

Q.4 1R RST RAFHUTUT W A I F“FT B YRAY T RTARARET A TAT A #/ R] (?) & 54T U ST |

Question ID : 239087369
Status : Answered
Chosen Option : 3

Q.5 1 RIT RAHUYT W A I T“AT B YRAT WY RTARAREA £, AT A #/E R (?) P 54T U ST |




Ans  off 157
X 255
X 3.59
X 4.54

Question ID : 239087370
Status : Answered
Chosen Option : 1

Q.6 TH BT HINTA”, ‘ALERT’ Y ‘11251820’ RAET SITaT & 31X ‘HERD’ P ‘85184’ RAGT ST 2 |
YTST H” «CLOTH’ T HIS FAT g 2

Ans  of 131215208
< 2.31512207
/< 3.31215218

25 4.38152014

Question ID : 239087363
Status : Answered
Chosen Option : 1

Q.7 RTARARE RIBUTT T A I A“ATHI GRTT A BT ARART £ - FaT v Fet d-ard e
{ TERYA § RO v A \WET HqT Ugelt T A Yanyd 21

101 : 10202 :: 107 : ?
Ans 1.11450

2.11447
3.12449
4.12550

O
uc

Status : Answered
Chosen Option : 1

Q.8 TRT + TUT— DI WR5UR TG &I ST @ df BT ARARET HHIBUT PT A FIT SR

72-91+13x12+6=2
Ans X 1140

K 2,144
X 3.156
o 2150

Question ID : 239087374
Status : Answered
Chosen Option : 4
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Question ID : 239087367
Status : Answered
Chosen Option : 2
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Question ID : 239087376
Status.. Answered

Chosen Option : 1
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Question ID : 239087372

Status : Answered
Chosen Option : 4
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TRE A TR § R e T \TRT AR THE Ued AT TG A HeaRed gl
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Ans  off 1 wLd
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Question ID : 239087359
Status : Answered
Chosen Option : 1
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Question ID : 239087375
Status : Answered
Chosen Option : 1

Q.149: §RU L, M, N, P, Q 9T R TS URU B U Fit 3R T HIP 9 \T & (SIV g 3@ g0t 7 &
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4.3

Question 1D : 239087365
Status : Answered
Chosen Option : 3

Q.15 71 RET T HYAT 3N I7P RARBYT B AT A URGY | HYAT 77 Gt TS APRI B 5T A \T,
e d A= WU | JoTd TUT F RYHU @Td BT, R0 HtRWT RP RGY MY BIA/A RARDY , YT BT
AIFHS WU H 3FERT HRal/Bd §* |
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25 1. SFT RARSY | TUT 11 STERUT BRAB*|
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25 3.3 W GIRBY 3TERUI 82 BRATS |
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Question 1D : 239087368
Status : Answered
Chosen Option : 2
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O Question ID : 239087380

Status : Answered

Chosen Option : 4
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‘PIN’ BT HIS FIT I 2
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qu&Sﬁ‘Uﬂ"‘BﬁS@GU 1302
Status : Answered
Chosen Option : 1
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Question1D--2390873 7
Status : Answered
Chosen Option : 1
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Question 1D 239087358
Status : Answered
Chosen Option : 2
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Question ID : 239087366
Status : Answered
Chosen Option : 2
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Question ID : 239087356
Status : Answered
Chosen Option : 1
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Question ID : 239087378
Status : Answered
Chosen Option ;1

Q.23 THHT UTHTH”, ‘PAPER’ B ‘UFUIW’ RTET SITeT & | I HE YT H” ‘MOURN’ T
IS FATENT ANS 1. SUBXT

2. RTZWS
3. RTAWS
4. SUAXT

Question1D239087360
Status : Answered
Chosen Option : 2

Q.24 RTARARET GHIBIU I el 91 F R 3B & RA|T BT AU H” IGAT S 2
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Ans X1 xaul

—J2.+HZIT
X

X 3 +aur-
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Question ID : 239087373
Status : Answered
Chosen Option : 2
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Question ID : 239087364
Status : Answered
Chosen Option : 4

Section : Numerical Aptitude
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Question 1D 239087502
Status : Answered

Chosen Option : 1
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2
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Question ID : 239087482

Status : Answered
Chosen Option : 3

3
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Ans 1
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Question 1D 239087491
Status : Answered
Chosen Option : 4
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Question 1D T 239087490
Status : Answered

Chosen Option : 1

Q5 A T d1T 3T T TEE B TEAT E, S 3, 4 TUT 5 ¥ Fefog s W FHw: 1, 2 g 3 AVGe &ar

g1 A & 3T @ T e 32
Ans
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Question ID : 239087481
Status : Answered
Chosen Option : 2

Q6 A faelr F 1 333 10 R & 3T THaT &1 A TUT B 30 F1F 1 s 20/3 Rt & 3¢ wha &1 A,
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Question ID : 239087496
Status : Answered
Chosen Option : 3
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Question ID : 239087505
Status...Answered
Chosen Option : 4
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Question ID : 239087501




Status : Answered
Chosen Option : 1
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Question ID : 239087504

Status : Answered
Chosen Option : 4
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Question ID : 239087500

Status : Answered
Chosen Option : 2
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Question ID : 239087503
Status : Answered
Chosen Option : 2
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Question ID : 239087489
Status : Answered
Chosen Option : 2
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Question-1D..-239087493

Status : Answered
Chosen Option : 3
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Question ID : 239087499

Status : Answered
Chosen Option : 2
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Ans xls
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Question ID : 239087484
Status : Answered
Chosen Option : 2
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Question ID : 239087486
Status : Answered
Chosen Option : 1
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Question ID : 239087494
Status : Answered
Chosen Option : 4
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Question ID : 239087487

Status : Answered
Chosen Option : 2
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Question ID : 239087498
Status : Answered
Chosen Option : 4

Q20 36 ort % wag #r sttwar amy 23 A ¥1 22 7§ Fr sitwd 3y AT 4 ©F wHE O & §| AT wE H
HEa g aut F (v GEEE T a%) feae 87

A 1 24.4
X 2245
xX3238
v 231




Question ID : 239087485
Status : Answered
Chosen Option : 4

Ul AR A=7X3+(Q+4) +4-2B=3+6X4+2-20f3 g
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Status : Answered
Chosen Option : 3
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Question ID : 239087495

Status : Answered
Chosen Option : 2
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Question 1D : 239087497
Status : Answered
Chosen Option : 1
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